| Efficiency vs Dxy |

.05
<

0,005 +-vvvviveed

yo! : : :
O] e
< Pob
D.04E
@ P
] e R
© : : :
0.03f+++feeervieed
0,025
002F
0,015} b

......................................................

0.00F i

1
1.1
1
0.9
0.8

Ratio

| Efficiency vs Dz |

B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mKFIt_TTbase
—e— DQM_mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT_baseline_6iter

nND.05
S

Q
EJ).O4
O
€035
o
0.03
0.025
0.02
0.015
0.01
0.005

YT SR B

—+— DQM_mKkFit6_TT_retrainOldFiles125_v2_prelimWP_epoch2_wSQCD

..................................................

1Q]

Ratio

1

0.9

0.8

10 2030
TP dz (cm)




	Contents
	Page 1


